. ALLEN Quadratic Equation
QUADRATICEQUATION 7. T o T B FEHEHT 5x2 + 6x — 2 = 0 % A |
A S, =om+ P, n=1.23...8 @ :
M o B FHFT x2 - x — 1 =0 JoA €1 AfE
P = (K + (B)k, k > 1, @t f=1 & & &R W T (1) 5S4 + 6S5 = 28,
?
e T ¥ (2) 584 + 6S5 +2S, =0
(1) (py + Py + P3 + Py +ps) =26
(3) 6S4 + 585 + 2S, = 0

(2) ps =11
(3) ps = ps - pe (4) 6S¢ + 585 = 28,
(4) ps =py - p3 8. HAM f(x) U= fgena sgue ¥ foros: faw f(-1) +
T TR 353 1) + 2= 35— 11+ 3 -2 B f(2)= 0% 1 3 f(x) = 0 F1 W 1 3 %, A T 7
it arEafes Hoil w1 Fg==a S BT S Fre 5 3 form o7 feerm w2
(1) T o gg== g1 (D =3, -1) (2) (1, 3)
(2) T %1 Y HH IR 1974 T (3) (-1, 0) 4) (0, 1)
3)#H 3Ted
@F i 9. A o T B, THEHLM X2 + px + 2 = 0 & T & a2l
(4) TF & 3Fd ol =T ¥ 1 |
o T o T, T for ah EHQTE,WUT2XZ+2qX+1=03%ELFT%,
2x2 + (a - 10)x +§=2a £ WH@' %, Fﬁ(a—l) (B_lJ (OhLlJ (B+lj T T
% ______ | a B B a
W a,b € R, a # 0 39 ISR & fo& oo 9 , 9 )
ax2 — 2bx + 5 = 0 T o, T g &, ST THIH0T D 70+p) 2 70-a
X2 —2bx — 10= 01 ff T a1 51 I B 30 Tl

. 9 9
H A HA T, T a2 + P2 TR T : (3)Z 9 - p?) ) Z(9_|_qZ)
(1) 26 (2) 25
(3) 28 (4) 24 10. A F13T 9 arsdfass G&e] w1 ag=, e fau
e A={x e R:IxI<2} A B={x e R: Tesiret TR, (A2 + 1)x2 - 4Ax + 2 = 0, 1 ST
Ix — 21 > 3}, @ : ONHTFITIA T A IAE, &
(DAUB=R-(2,5) (1) (<3, -1) (2) (1, 3]
@ANB=(2-1) (3) (0, 2) @) @, 4]
(3)B-A=R-(-2,5)

11. A x2-3x +p =0 HdA o a1 B &
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4 A-B=[-1,2)
THIHTOT edx + e3x — 42X + ex + | = () & IRl

Teil ! T T :
(1) 4 (2) 2
(3)3 41

XX—6x+q=0FqAyaMSTI A 0, B, 7, &
O it % &9 H | T 39 (29 + p) : (29— p)

am
(1)3:1 (2) 33 : 31

3)9:7 “4)5:3




Quadratic Equation

12.

13.

A A # 0, R ¥ ®1 afe o qom p gHiwIo
X2—x + 2L = 0% g ¥ SR o qAq y, THEHI
3x2- 10x + 270 = 0 & & &, @ % ERERS
s

(1) 36 (2) 27
(39 4) 18

IR0 9x2 — 18[x| + 5 = 0 & Hl 1 [OAHRA
g

2 ) 25
()9 ()81
N o3
()27 ()9

14.

15.

16.

AI.I.EIl’
Ifg oL qAT B THHI, 7x2 - 3x —2 =0 & A T,
, (12+ Bz FHAAE :
I-a~ 1-B
2 L
T3 @ %
N NE
()32 ()8

AfS oL AT P, THHIT x2 — 64x + 256 = 0 & QA
SV LB
W%,ﬁ(BSJ +(qu FAFE :

(H 1
3) 4

IfE oL T B THHI 2x(2x + 1) = 1 S A §, A
B R T

2) 3
“4) 2

(1) 202 2) 2000 + 1)

3) 2a(a + 1) 4 2o0(a - 1)
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. ALLEN

Quadratic Equation

SOLUTION
1. NTA Ans 4)
Sol. a+B=1,0p=-1
P, = ok + Bk
a-a-1=0
— ok — gkl _ gk2 = 0
& Bk — Bkl — B2 =0

P=a+B=1
P=(a+B)P?-20p=1+2=3
P, =4

P, =7

Py =11

2. NTA Ans.4)

Sol. Let3x=t;t>0
tt-1D+2=1Ilt-11+1t-2|
2—t+2=1It-11+It-2l
Case-I:t< 1
2—t+2=1-t+2—t
t2+2=3-t
t24+t—-1=0

t_qug

2

J5 -1
2

t= is only acceptable

Case-II: 1 <t<?2
2—-t+2=t-1+2-t
t2—-t+1=0

D <0 no real solution
Case-IlIl : t>2
2—t+2=t-1+t-2

t2—-3t 5=0= D < 0 no real solution

(4) Option
3. NTA Ans. (8.00)

Sol. D>0=(a-10)*-4x2x [?—231)20

=a-4a-32>0
= a € (-,, 4] U [8,:)

Sol.

Sol.

Sol.

Sol.

NTA Ans. (2)

o
ax? — 2bx + 5 = 0<__

b 5
= a=—; a’== = b2=13a
a a

o
%= 2bx 10 =0< = 02~ 2b0.- 10=0

1
:>a:Z:>0L2:20;0LB:—10:>62:5

= o2+ p2=25

NTA Ans. (3)
A:xe(-2,2);B:x e (—o,-1] U [5, »)
=>B-A=R-(-2,95)

B« o —>

pa ] ] ] ] ] S
1

I —I2 -1 2 5
NTA Ans. (4)
e+eX—4ex+ex+1=0

Divide by e2x

1

1
f— CZX +ex —4+—X+T=0
€ [

Let ¢ + =t = (X - 1)2=0 = x=0.
€

.. Number of real roots = 1

Official Ans. by NTA (1)

o and B are roots of 5x2 + 6x —2 =0

= 502+ 6a-2=0

= SomZ + 6ot — 200 =0 ...(1)
(By multiplying a")

Similarly 5pm+2 + 6pn+! — 22 =0 ...(2)




Quadratic Equation

Sol.

Sol.

ALLEN .

By adding (1) & (2)
5S,,,+6S,,,-25,=0
Forn=4

|55, +68S, =28,

Official Ans. by NTA (3)
fx)=ax-3) x— )
f(2) = a(a - 2)

f(-1) =4a(1 + o)

f-1)+1f2)=0 = a(a-2+4+40)=0

az0 = Sa=-2

a=-—-=-04

W N

a € (-1, 0)

Official Ans. by NTA (3)
a, B are roots of x2 + px +2 =0
S ol+pa+2=0&B2+pp+2=0

1 1
= EE are roots of 2x2 + px + 1 =0

11
But —> 7 areroots of 2x2 +2gqx + 1 =0

a B
=p=2q
Alsoa+pB=—p afp=2

s
e

(—pa.—3) (-pp-3) (af+1)°
(ap)’

9
= Z(POCB +3p(a+p)+9)

_209-p)=2©9-4qg
=70-p)=70-49")

10.

Sol.

11.

Sol.

12.

Sol.

Official Ans. by NTA (2)
If exactly one root in (0, 1) then

/.
7

= 1(0).f(1)< 0

=2A2 41 +3)<0

= 1<A<3

Now for A =1,2x2-4x +2=0
x-1D2=0,x=1,1

So both roots doesn't lie between (0, 1)
SA#EL

Again for A =3

10x2-12x+2=0

:>—1l
X—,5

so if one root is 1 then second root lie

between (0, 1)

so A = 3 is correct.

SoAh e (1, 3].

Official Ans. by NTA (3)

o
x2-3x+p=0

P <B

a, B, v, 6 in G.P.
a+oar=3 ..(1)

x2—6x+q:0<z;

ar2+or3=6 ..12)

(2)+(1)

=2

2q+p_2r5+r_2r4+1_9

0, 2q—p_2r5—r_2r4—1 7

Official Ans. by NTA (4)
10 27\

0L+B=?, ay=T=97\,

7
’Y_BZE’

node06\BOBA-BB\Kota\JEE MAIN\Jee Main-2020_Subject Topic PDF With Solution\Mathamatics \Hindi\Quadratic Equation.p65"



node06\BOBA-BB\Kota\JEE MAIN\Jee Main-2020_Subject Topic PDF With Solution\Mathamatics \Hindi\Quadratic Equation.p65"

Quadratic Equation

13.

Sol.

122 _gﬁ—gx_ _3
p 2 VTP s T
7
PP
9 7 2
—B=—=PB=—
P=37P=3
_q_ 2.1
@=17373
2 1
2 = —=A=—
A= 9
2
“x3
Pr_3 g
Ao 1
9

Official Ans. by NTA (2)

Ox2 - 18|x|+5=0

OlxI2 — 15IxI = 3Ixl + 5 =0 (- x2 = IxI?)
3IxI BIxI-=5) - @IxlI-5)=0

5
Xl= =, >
X 3

1
3 b

[SSEE
I+
W | W

>
Il
H+

25
Product of roots = 31

14.

Sol.

15.

Sol.

16.

Sol.

Official Ans. by NTA (1)
7x2-3x-2=0

OLB:_—

7
a B o+ B —oap(a+P)

T - —F B

3+2(3)
- 7 717 _
1—(a+P) +2ap+a’p’ 16

Official Ans. by NTA (4)
x2—-64x +256=0
o+ B =64, af =256

N L Bm
[%J +(%J = BS/S + o
_o+p 64 2
(aB)s/s (256)5/8
Official Ans. by NTA (3)

o and B are the roots of the equation
4 +2x - 1=0

1
40 +20=1= 5=2a2+a (1)

-1
=—-a
P 2

using equation (1)
B:—(2a2+a)—a
B =—2a-2a
B=-=2a(a+1)






